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lounding Up o I e digit to fhe Fight

of the one youare rounding is
5 or more,
Keep the Same & 1€ he digit fohe right
of the one you are rouading is
‘ less 4han 5,
Round 3273 10 hundred:= 3300
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 Round 6.4zl o hundredth = 6,93

Standard rm  How we see nunbes
ex. 1—15(9, g79.34

~eponded form : g19.34 = (9xloo+
G oy *@xi) + (3x0.1) +(Hxo-00
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The highest nwber Thet divides exactly
into hoo ar More NuAbers.

Luse when you need 1o break numbers don
into ecb\m\ sized groups.

Lowest Common dulkiple Cren)
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Face Value @ The number ©)
327 .0l

Place Valug : The place Value
F{era\ \/&lb(e. ! Fuce Valye X place v‘a\ue@

The snallest nunber dhat is a Muiiple
of hwo o More Aubers.

LUse when you need 1o find when 4 Eerent
things will happen ,;;052\-;\6.(‘

Foctor @ A nunbeér +ha+d:vlde5 Q%\«La\\\j
inko another Aumber, Foctors are 125S
Hhan or ecoua\ +to-the nu~abecr.

Prime Number & A Aumber with exactly
Fwo different fuctors | 1 and idsel

Primes 4+ 100 215}5”}] \\115,1'711‘71,2.3‘( 29,

31,%1,41,43,97, 53, 59,61,67,711,135 719,83 89,97

%\posiire ﬂu«’\b@f“; A aunber woith Mmore
fhan 2 dibfcrent foctors .
Nenbers are

Divisibility Rules :
. ‘ divisible by ;
2 ifendsin 0,24 6,2
3 i€ Sumf drﬁn‘s is divisible by 3
H "; last +wo d252+5 gre divigible by H
5i€ it edsin 0,5
L i€ it is divisible by 2 and 3
Qi€ the last theee digits are divisisle by&

§ i€ the sun of digifs is divisivie by 9 |

o if i+ ends In O
[ i€ i s divisible by 3 and H

Find 6CF o LM

Znd the GCF and the Lo oy l672C
Slep 12 Foctor Stair coses for both
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Step 3

For 6CF 1 mubliply nudibe o

Common‘aree. (centre)
2% =Y

or LCn @ multiply c ll The nunbers
T Youplaced in the Vean
d,zo,gramr\
2X2X2XK2X 5 = 8O
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Exponents @ showo repeated mulRpli cdin | LED M AS
Tor exanpe  2-2.2.2.2=2° B —d, Is¥
5 & e Xponent E — do zné,
Power '
\ D} do 374 5¢ they appear leét 1o
A M Fighr
st Exponential 2° e
Expanded = 2:2.2.2.2 } do H™ as hey O‘PP@W‘)‘@;*D
Standacd | 32 . z 3
e 3 =23+ x (I2-0)
p3*F3+r2Lx 2*
special EXponents Elog+3+2y4
Exponent of 0 ; Aay bose withen (P | 3 +2 %Y
“Cxgonent of 0 = | M| 2 + g
3°= | A | (0
e D
EXponeny o€ | Hm, bease Loith an
@ xponent of | =+he base
Number, |
4=y
5'=5
Decimals .
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Line wp decimals 0.58+0.373 Line up decimals  T1:89— HN2
0.5%0 _ 1890
+ ©.3%73 4112
©.953 %,178
X 7.2¢ X5.3 : -
) Decimal by Decimad by
“7.2.8 % \ Lonole Aunbers Pec el
P I locrmals
53y do Aot line wp dec Yy e
m—“ Answer has fotel nunbes 56) 22540 ¢ g
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Where. v place Fhe dectmal
xS = 38




